125 . The nurse ......... denied the charge that the patient's death was due to her negligence. She
was sure that she was not responsible for the problem.
a. intimately b. superficially ¢. hazardously d. vigorously
126 . Owing to the extremely complex psychological experiences, the attempt fo .......... the cost of
psychological disorders such as depression is not easy.
a. circulate b. alleviate ¢. potentiate d. replicate
127 . The illness may unfortunately .......... his ability to think and concentrate.
a. impair b. reinforce c. reveal d. impart
128 . One needs to exercise regularly to .......... the harmful effects of sweet and fatty foods.
a. counteract b. permeate c. exacerbate d. augment
129 . The manager's encouragement gave fresh .......... to the employees to work more efficiently.
a. insult b. impetus c. imprint d. immersion
130 . The president of the organization found it difficult to .......... the decision made by the
committee, so he rejected it.
a. neglect b. justify ¢. eradicate d. degrade
131. The excess energy produced in the body after a period of eating heavy meals will be ..........
unless exercise is done to use it up.
a. depleted b. eliminated c. conserved d. declined
132 . Herbal treatments, as the most popular form of complementary medicine, are highly ..........
in the international marketplace; they bring in a lot of money.
a. profound b. hazardous c. lucrative d. informative
133 . Each person’s genetic code is ............ except in the case of identical twins.
a. vocal b. eminent c. equal d. unique

134 . The unexpected recognition of an answer to a visual puzzle stimulated by an external factor is
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a. interaction b. insight c. consequence d. incidence
135 . The new drug proved effective, and this will.................. the increase in unwanted growth.
a. enhance b. confirm c. approve d. reverse
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